



$$93,07 - 0,01 = 93,06$$

$$152,1 : 3 = 50,7$$

$$0,65 \times 9,02 = 5,8630$$

$$9,564 + 2 + 54 + 18,94 = 84,504$$

$$\begin{array}{r} 93,07 \\ - 0,01 \\ \hline 93,06 \end{array}$$

$$\begin{array}{r} 0,65 \\ \times 9,02 \\ \hline 1300 \\ \phantom{1300}0 \\ \hline 58500 \\ + 58630 \\ \hline 5,8630 \end{array}$$

$$\begin{array}{r} 3 \overline{) 152,1} \quad 50,7 \\ \underline{15} \phantom{,1} \\ 021 \\ \underline{21} \\ 0 \end{array}$$

$$\begin{array}{r} 21,1 \\ + 9,564 \\ + 2 \\ + 54 \\ + 18,94 \\ \hline 84,504 \end{array}$$

